Grade 10 Essential
Quiz Debrief
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GRADE 10 ESSENTIAL Name:

WEEKLY QUIZ — WEEK 2 Date.

Use a calculator

*  You really should use your single sheet of Study Notes (Cheat Sheet).
You may use mine until such time as you make your own

« Templates and formulae have been provided.

. Each question is worth two marks unless otherwise indicated.

« Time limit: 40 Minutes

Round decimal answers and money to the nearest 0.01 or as indicated
Put an "X" here: 0 ; if you read these instructions (1 mark)

to
¢ and customize yours. You need

my cheat shee he Final Exam

adapt .
R 5’”‘::5;;"1“ YOUR cheat sheet with t
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FORMULAE
UNIT B - PERSONAL FINANCE FORMULAE

e GROSS Income. All Income.
e NET INCOME: Income after deductions

« NET INCOME = GROSS - Incomeé Tax(e
Contributions - Other Deductions (Parkin

e To calculate income taxes: Taxable incom
Pension Contribution - RRSP Contribution

« Income tax(es) = tax rate(s)” Taxable incOme, -~
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1. The Canada Pension Plan (CPP):

¥ is a defined beneft retlrement plan that Iets you relax In luxury
when you retire; Aol' *900/mpith cs NoT a Life ot lwxuiy

Is a contributory plan to which workers pay a portion of their
employment income;

x{ is a completely voluntary plan that can be declined using a T4B
tax form;

W has recently been changed so it can only be collected when
reaChing age 67 now. There is another source of income for the elderly,

the Old Age Security (OAS), there was talk of changing
that to age 67 several years ago



2. An example of a deduction from employment income is:
= cowe oppfl&la_

& CPP benefit Something gow et

R
>i. CCB (Canada Child Benefit)

iIncome from commissions and tips

e
@ charity contributions
You can Laug aur boss take O'W
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3. Two things (‘expenditures’) that Provincial Taxes pay for are:
®. hotels and gas stations Frtva{c COHFam'sT

3 pipelines and airport securitye- Fedeval Government
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4. 4.95% of $1,230 is:

@ $60.89 b. $92.00 c. $248.48 d. $102
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5. Debbie gets paid at an hourly rate of $13.20 per hour. She works the
following hours in one week. Determine her Gross Income if overtime is
paid at(time-and-a- h@after 8 hours In ané one dag

Ref\ hr % = 3Ch
Day M T F Td-fj.'
Hours 9 10 9 12 - T Yyl
O/7 hi { =L ( oL O = Yl
() $63360 b. $580.80 =/ $118.80  d. $739.20
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6. Brian has a gross income of $345 per week. He contributes $40/week to
an RRSP. His income tax rate is 16%. How much tax is deducted from his
pay cheque?

$48.80  b. $16 c. $55.20 d. $305

53‘:‘5 e 530'5' 5305"%0:1[#9,80
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7. Two numbers add to make 14 and their difference is 2. The two
numbers are:

a.{8,6) b {122} ¢ (7.7} d. {5 3)
T CLLOLC&S! Pech the one that works!
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7. Two numbers add to make 14 and their difference is 2. The two
numbers are:

of course, if you were not given 4 cho'ices tr? ;eit
you would have to do someé calculations eithe
on paper or mentally in your head

st Anol Sum DifPerence
Ml hhi- = hEE = a7
Wi s 19 P g v fo=tp = MmER
oo 97 6w acraVe
G_;]g._i.'ﬂ e
84 61F fng o b
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'Tg-st 'tﬁ-h-’-"ﬁ% _\; But if you were given some choices of answer, just
5{’,&{_&3-3 - test each choice rather than make your own




OPEN RESPONSE
SHOW YOUR WORK for best mark

1. Explain. Would you rather work for $14.50 per hour for 40 hours per
@ week and 5% commission on all weekly sales of $5,200

Or

Would you rather work for $16.00 per hour for 35 hours a week and a 10%
@ commission on sales over $3,000 based on weekly sales of $5,2007?

[Calculate and compare the Gross Pay of each optton]

=" S6
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Test Taking Strategy: Show work, even some work!
Teachers often give part marks for a partial solution



Do Question 2 or 3, not both. Ifyou do both then the better one will
be marked =

2. The sum of two numbers is 14. Their product is 48. Determine the two

numbers. |t b Il nbr Sum Product 4
X 1o 7 i i Ly qumfew !
> q S- q +5 =1 9.5 = 4L = wa tlt.'&,"‘-':h‘] cloSe .

mazrks ® @ %+6=I"f/ Be6=4BYV Yes
@f’. Eun mmlners ave é' @ N. Lirp how T’“ {;wfcﬁ

| _—_TR -
| {I U S "‘"'"—n':'._\_

~ 3. Solve for x: (1 mark each) Ao £his n Youv m—:::faj
H IH] . " . -f‘—'{'r :'f"‘:..a- {:- 5 "{r::‘:'.llé'}"'{f. :
(+ oy L= & _1
"-:f 1 i . * ""’l":l. {'\E L "I"a
a E — i b E = Z ;}_j-.;f;f'-:‘il [ n.y.;_f_f| eo’'\. QoL
8 24 5 .

bonants8w 7% " Cross 2‘.%— Cross hu il
g E%E h.mltdpha, 5 X
;.x —E 5

N k7 .? [f—;r‘w JHEJ— i}ﬁ{.h
- - [ ] CLI.EL: " "? - o . *-.ij‘ 5‘:-':_5-;_. . '
LT = 3+ ‘ 4:3“5 : I ex = 35 0¥t avE
= o 7 5370 T = a 4ne o cudd
120 =~ A 120 * e " b 8 ™ 3& \\ ef;

BN E ()N (& %1}

3 : Check' 9
5 bananas for $8; lest TI'F ’ o 10 s = 53 \/

how many bananas for 24? mehe a veal E'H"FI‘:" 35 -




BONUS QUESTIONS [Extra marks if you need them]
[Show work for best mark, mark value as indicated]

1. Determine the sum (add them all up) of all the whole counting numbers
from 1 to 20. [two marks] A

[+#24+ 3+ + 4+ etc+4+ /83415920 =

?
1+24+3+4+0+6+7+8+ d.
G+1B+11+12+13+14 Tod & £here o bebter meths
Eéﬁ+15+1?+18+19+
J+A4+ 3+ + 4 etc++ [B+19+20 = °
L ] 1420 = Q| |
| Arig=aAl
\ 10°21=210
. \ ¥ -
Math is all about N/ Haw Mg

: f
seeing patterns! :U-ss



2. Jason earns $14.75 / hr. He works 30 hours this week. He has $25
each pay sent directly to his own Registered Retirement Savings Plan
(RRSP). His income tax ‘bracket’ is 18% (combined Federal and
Provincial). (This RRSP should work out to be a bucket of money of at
least a $100,000 in 30 years!). CPP contributions are deducted from his
pay at 5.45% of his Gross pay. Employment Insurance contributions are
deducted from his pay at 1.95% of his Gross Pay. Jason has $6.00 / week
deducted from his pay for coffee and also has a charity donation of $5 to
the United Way Charity deducted! [Complete a template form]

6
marks

a. Determine Jason’'s Gross Pay [2marks]
b. Determine Jason's Taxable Income [2 marks]

c. Determine Jason's Net (Take Home) Income [2 marks]

[Complete a Net Income Template Attached]

e Y T

4



2. Jason earns $14.75 / hr. He works 30 hours this week. He has $25
each pay sent directly to his own Registered Retirement Savings Plan

{RRSP). His income tax ‘bracket’ is 18% (combined Federal and

Provineial). (This RRSP should work out to be a bucket of money of at
least a $100,000 in 30 years!). CPP contributions are deducted from his
pay at 5.45% of his Gross pay. Employment Insurance contributions are
deducted from his pay at 1.95% of his Gross Pay. Jason has $6.00 / week
deducted from his pay for coffee and alse has a charity donation of $5 to
the United Way Charity deducted! [Complete a template form]

G
marks

a. Determine Jason's Gross Pay [2marks]
b. Determine Jason's Taxable Income [2 marks]

¢. Determine Jason's Net (Take Home) Income [2 marks]

[Complete a Net Income Template Attached]

NET INCOME CALCULATION TEMPLATE

Regular Pay

O/T Pay

Y43, 50
0

Pay Rate X Hours f‘f-]’s 30

= &

Commission (% of sales)

GROSS INCOME =

Q
443,50

Non-Taxable Deductions

¥

— RRSP Contribution

B

— Union Dues

— Company Pension
Contribution

TAXABLE INCOME =

Income Taxes +:

Cl ot

—~Taxes Provincial

~-Taxes Federal

' 8 ?u ] -:H.IS

Tax rate(s) X Taxable Income

18 /100 * 17,50

Taxable deductions

—CPP Contribution 5.4%%

=212,

% of Gross Income

S5/ lob « 4¥a.i50

% of Gross Income

~El Contribution.95%  |= Q, (2| * )0 e * 44250
—Parking — (.00
—Coffee Fund - 0
—~Charity Donation g.od




So that is pretty much the first seven
days of the course!

Briefing
Start tweaking up my cheat sheet, so lete
you can adapt your own! Comp s
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